
Part # 07116                           HORNET600 Hugger 

                           1997-2002  

            
 

Fitting kit contains 

 

 

 

 

 

 

 

 

1. Remove the brake pipe guide bracket. 

 

2. Remove the bolt holding the 2 parts of the bracket together and discard the lower, 

larger section of the bracket. 

 

3. Loosen the 2 left hand side foot rest hanger bolts and remove the top bolt.  

 

4. Lower the hanger to gain access to the front chain guard bolt.    

 

5. Remove the chain guard retaining bolts and take off the chain guard. 

 

6. Attach the pyramid bracket to the right side of the swing arm using the 2 original 

bolts from the brake pipe guide bracket positioning it so that the 2 captive nuts 

are to the inside towards the wheel. 

 

7. Take the Pyramid hugger and feed it in from the left hand side over the wheel 

 

8. Offer up the chain guard side to the chain guard mount brackets and loosely 

attach 2 m6 x 16mm countersunk bolts and washers. 

 

9. Attach hugger to the bracket using 2 m6 x 16mm button head bolts making sure 

to place the remaining piece of the brake pipe guide bracket in between the rear 

bolt and the outside of the hugger trapping it in place. 

 

10. Tighten the chain guard side bolts 

 

11. There will be some play in the holes so if needed a better fit can be achieved by 

loosening the bolts, positioning the hugger by pulling the relevant side and re-

tightening the bolts while being held in required position. 

          Reattach the footrest hanger making sure all the bolts are fully tightened 

1 x Hugger, 

1 x Bracket     CFK07116 

2 x M6 x 12mm button head Allen bolts CBOL0123 

4 x M6 Black plastic washers   CWAS0221 

2 x M6 x 16mm Allen bolts   CBOL0251 


